S SAAME MY
MM He2 PAYBAHIA MIS(2A/2AAR)
Ghel: 2og omp 1E (ol &2
= _ | 4
SH-FH-S(3) - HRAY - BES O &F o agﬁ H =2
A MH MY 50,864,478 48,510, 109 2,354,369
= 10,136,194
z 13,168
pJ 29,285,548
=3 11,429,568
g2 2AOBRNHIA MB(2AH/2AH9Z) 46,490,314 43,961,540 2,528,774
= 7,734,475
pJ 29,270,280
3 9,485,559
2O Qme pE 6,242,469 7,544,394 1,301,925
= 4,595,031
pJ 60,000
-3 1,587,438
2AHM 22 Y £ 26,146 33,580 AT 434
201 Yt | 17,346 24,780 AT ,434
01 At 22/l 17,346 24,780 AT 434
OEAIY YIS (LHH3I) 10,000
OEAAZ HYEPY AWK 2,200
oA 2 93 29 YL +Y 2.800
OSAAY RTA(LU0l) EHI A= 2,346
202 0i 8.800 8.800 0
01 20t 8.800 8.800 0
OA™YH A2 XX 8.800
20| Moz oy 18,200 18,200 0
201 Yt | 18,200 18,200 0
01 At 22/l 18,200 18,200 0
OBEHAAA H2W] 18,200
SOE2A4 S 0MAE(2D) 3,972,721 4,348,028 ~375,307
= 3,178,166
3 794,555
403 XX S S X201 & 3,972,721 4,348,028 ~375,307
= 3,178,166
= 794,555
01 RXISH 2L X 3,972,721 4,348,028 A375,307
OSOHEEAL S 0ITASAY 3,972,721
= 3,178,166
= 794,555
HUMS X AME &5(2D) 75,000 1,176,827 A1,101,827
pJ 60,000
=3 15,000
403 XX A S X201 & 75,000 1,176,827 A1,101,827
pJ 60,000
=3 15,000
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M Me2 PAABMUIA I (BA/22A92)
C9l: B2 Xz 1S (et9l: @2
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
= 18,475
< 18,475
BAC2Y FTOAA X 240,000 168,000 72,000
308 XX EHAISOI A 240,000 168,000 72,000
01 HXSHMBARES 240,000 168,000 72,000
OFE A Q12HHl X2 240,000
SA 2 EY N A 18,000 0 18,000
403 XtXI X S K20l & 18,000 0 18,000
01 XXl SHH Xt = 2 = 18,000 0 18,000
oSgNRI(AXYM) 18,000
Ay pel MUlA M2 10,602, 148 10,749,433 147,285
= 145,000
b 8,704,069
= 1,753,079
TAAS AL EAN EAES P2 (22) 603,514 603,603 £ 89
b 603,514
308 XX EHAISOIE 603,514 603,603 89
b 603,514
01 HXSHMBABES 603,514 603,603 89
OXSAtE AL EA X8 603,514
pJ 603,514
NAAS SSHALSTAL(ZD)(NE) 209,338 198,000 11,338
b 104,669
< 104,669
201 et Y| 4,000 4,000 0
b 2,000
< 2,000
01 At 22t 4,000 4,000 0
OX%GAE SEALSTALY 4,000
b 2,000
= 2,000
202 01t 5,338 4,000 1,338
b 2,669
< 2,669
01 2LH o1 b 5,338 4,000 1,338
OXGAIE SEALSTAY 4,838
b 2,419
< 2,419
OXGAE SEALZTANY (Z2H) 500
b 250
< 250
303 a2 4,000 0 4,000
pJ 2,000
= 2,000
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SN BAAMI Y
M o HAABMHIA MB(2A/2AR)
Sl BMRALRR MHIA KT CEEREE
SA B S (BH) - MEMY - BES Ol & 24 e BlRE2
01 Z& 3 4,000 0 4,000
OANLHEIME MAER SLAZ T 4,000
J| 2,000
= 2,000
307 @Iz2t0l & 196,000 190,000 6,000
J| 98,000
= 98,000
05 It E S 196,000 190,000 6,000
OSHHAZTAANN AL 2 196,000
J| 98,000
< 98,000
KNAAS SEALSIAE(21) 5,284,128 5,217,346 66,782
J| 4,403,440
< 880,688
308 X EHSOIA 5,284,128 5,217,346 66,782
J| 4,403,440
= 880,688
01 HXSHHILEXS 5,284,128 5,217,346 66,782
O8dAx SEULSTAY XA 5,284,128
J| 4,403,440
= 880,688
st HA LA A(21) 281,375 302,221 A 20,846
J| 250,111
= 31,264
308 AUXIEHSOIA 281,375 302,221 A 20,846
J| 250,111
= 31,264
01 HXESHBILAEEXS 281,375 302,221 A 20,846
OCBSUHABAN LBAA Y] 281,375
J| 250,111
& 31,264
2SS AX ZR0tALZA X2 (21) 18,783 15,206 3,577
J| 18,783
308 AUXIEHSOIA 18,783 15,206 3,577
J| 18,783
01 HXESHBILEXS 18,783 15,206 3,577
OCBSUHASIAN IR0 AL AT 18,783
J| 18,783
RO LI HLAA X2 (=21) 28,490 27,740 750
J| 22,792
< 5,698
301 getE M= 28,490 27,740 750
J| 22,792
& 5,698
01 AtaIEZ " =35l = 28,490 27,740 750
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ool maAT Bl AHIA MB (ol @2
2N -3 - (3H) - NHEAMY - BE= Ofl &F o gg% Hws2
OF R0t LT ZLZ A 28,490
ol 22,792
= 5,698
JBZUHAZAN ALBIAY 2Y(2D) 18,000 18,000 0
ol 18,000
308 X+l EHH S 01 & 18,000 18,000 0
ol 18,000
01 RSB RES 18,000 18,000 0
O=BALET 29 ¢ B8 18,000
ol 18,000
AAZNATLRNEME 2Y(22) 232,000 259,200 A27,200
=2 145,000
= 87,000
308 X+ Xl EHHI S 01 & 232,000 259,200 A27,200
= 145,000
= 87,000
01 XS HBARES 232,000 259,200 ~27,200
OAATNATLRBME DE2Y X 232,000
= 145,000
= 87,000
NAMEIBS SANBAHIA(ZD)(HE) 58,486 62,000 ~3,514
ol 29,243
= 29,243
201 2Er2 | 57,000 60,000 £3,000
ol 28,500
= 28,500
01 ALR 2l tl 57,000 60,000 £3,000
0Z¢ANY 29 L B8 57,000
I 28,500
= 28,500
202 01 | 1,486 2,000 A514
ol 743
= 743
01 2L o1 bl 1,486 2,000 A514
OZeAY =X 1,486
ol 743
< 743
TAANES SUTMYIA(2D) 2,839,771 3,010,487 A 170,716
I 2,366,477
= 473,294
308 Xt M SOI & 2,839,771 3,010,487 A 170,716
I 2,366,477
= 473,294
0l HXSHBARES 2,839,771 3,010,487 A 170,716
OXIAAMEIEA SHXMNHIA 2,839,771
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SN BAAMI Y
M o HAABMHIA MB(2A/2AR)
Sl BMRALRR MHIA KT CEEREE
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
Jl 2,366,477
= 473,294
HASE SN XNA(22) 230,908 290,250 A 59,342
J| 230,908
403 AXIEHHS X201 & 230,908 290,250 A 59,342
J| 230,908
02 BJ12S0tetxt=2H 2 & AL I 230,908 290,250 A 59,342
OMASE SHXE A 230,908
J| 230,908
Doty EAHNAHAE (S1) 787,355 664,680 122,675
J| 656,132
= 131,223
308 X EHSOIA 787,355 664,680 122,675
J| 656,132
= 131,223
01 HXSHILAEEXS 787,355 664,680 122,675
O2HY EAANAY 787,355
J| 656,132
& 131,223
ALEHA0E AY K& 10,000 0 10,000
308 UXIEHSOIA 5,500 0 5,500
O1 IXSHBHEXS 5,500 0 5,500
O2CIUO0IE 22l 5,500
403 XM S =0l & 4,500 0 4,500
01 XA =L = 4,500 0 4,500
onlsALSIAS Wl 2 4,500
MEMZE 2H22 XA =HE 29,645,697 25,667,713 3,977,984
= 2,994,444
J| 20,506,211
= 6,145,042
HABAAY F& 147,610 126,750 20,860
202 04l 6,750 6,750 0
01 =LH A 8l 6,750 6,750 0
OMFNYN Byl =2 6,750
303 Z& 3 5,500 8,400 22,900
01 Z&3 5,500 8,400 22,900
ORAUY A AT Za 5,500
307 QIO A 45,000 32,400 12,600
02 QIZHE &AL E = 45,000 32,400 12,600
OUATHAFMAY =X HME SAK HSHH 45,000
308 UXIEH S0 90,360 79,200 11,160
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FME2A
M A2 2A
F&

S

SNMHA MB(2A/2H22)
o2 Z2g2eMA = (cte®

SN P SA(BH) - MBAY - BYS 01l &k o

=

P
2H

2L 90,360 79,200 11,160
£ 90,360

©
0%
>
HI
aY
™
O
>
-
_‘>|_|
0
é
>

ZAFMAL=EXNHEH B (=212) 297,220 861,284 A 564,064

148,610
148,610

X

307 212+01 A 297,220 861,284 A 564,064

148,610
148,610

m X

05 QIZtRE& S 297,220 861,284 A 564,064

OZ9g JuAL=SANHE 29 297,220
148,610
148,610

hn X

IZ=ZUAL=ERNEH XE(21) 551,880 1,989,619 A 1,437,739

459,900
91,980

hn X

308 XXl EHM SO0l & 551,880 1,989,619 A 1,437,739

459,900
91,980

X

01 X HHBEEXS 551,880 1,989,619 A 1,437,739

OJl=g FuAL=SXHE 29 551,880
459,900
91,980

mn X

HAAZ=SXNHE QEES(21) 4,953,014 1,837,994 3,115,020

3,909,197
1,043,817

mn X

307 212+01 A 654,944 181,620 473,324
327,472
327,472

in

02 DIZHA AN B 654,944 181,620 473,324
OBMALSTHE Q2sE 654,944

327,472

327,472

X

308 AFXIEHH SOl ™ 4,298,070 1,656,374 2,641,696

3,581,725
716,345

X

01 HXHHBAEES 4,298,070 1,656,374 2,641,696
OJl= ZUAL=RHEH UHES 4,298,070
3,581,725
716,345

n <

010
il
5
IS
pm
Ho
02
Pl
o
M
I_

469,460 494,609 A25,149
322,497
146,963

hn X

307 21201 ™ 214,998 224,822 A9,824

107,499
107,499

hn X
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SOl AMOIZE ZYRelMH e (cHol: &8
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
02 QI A MAR B 214,998 204,822 £9,824
OSSHYEY SYNV (ZAFAAL=THE) 214,998
I 107,499
= 107,499
308 X+XI EH A S 01 & 254,462 269,787 A 15,325
p] 214,998
= 39,464
01 RXISHBLRES 254,462 269,787 A 15,325
os2MYY 29 x4 254,462
p] 214,998
= 39,464
OISHAE FASAAY(2D) 143,640 345, 141 £201,501
p] 119,700
= 23,940
308 X+XI EHHI S 0| & 143,640 345, 141 £201,501
p] 119,700
= 23,940
R EREES] 143,640 345, 141 A201,501
O0tS - HAW FABAMY X 143,640
p] 119,700
= 23,940
ZSRASSNAME XN (2D) 296,964 293,441 3,523
=2 247,470
= 49,494
308 X+XI EH Al S 01 & 296,964 293,441 3,523
=2 247,470
= 49,494
01 RXISHB AR TS 296,964 293,441 3,523
OESHASSNAME 29 296,964
= 247,470
= 49,494
HaEe 120 N (2D) 58,620 153,600 94,980
= 48,850
= 9,770
308 X+XI EH A S 01 & 58,620 153,600 94,980
= 48,850
= 9,770
0l RXSHAARES 58,620 153,600 94,980
OFANTEX X2 XN 58,620
=2 48,850
= 9,770
SHPMALZIANY X (2D) 2,160,000 0 2,160,000
ol 1,800,000
= 360,000
308 X+XI EHHI S 01 & 2,160,000 0 2,160,000
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Hu: IS DAARMHIA MB(2A/2AAR)
SOl AEOIEE Y BRIMY e (cHol: &8
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
= TT3,565
307 QI2+0| & 35,489 0 35,489
ol 17,745
= 17,744
02 QI A MAR B E 35,489 0 35,489
OFMAYSRIME Ko A 21248 XIR(
Zo) 35,489
p] 17,745
= 17,744
308 XHXI €A S0l & 574,922 190,699 384,223
ol 479,101
= 95,821
L ERCES] 574,922 190,699 384,223
OFMAYSRIME KHAOI YA 21248 XIR(
K RER) 574,922
gl 479,101
= 95,821
Ta RE AASMHHIA KA(AAL,2HY)(2D) 514,400 262,950 251,450
I 358,000
= 156,400
307 QI2+0| & 212,000 0 212,000
I 106,000
= 106,000
02 QI A MAL R E 212,000 0 212,000
OMA S= AAS MHIA XA (ZA) (2
A1, 22H) 212,000
ol 106,000
= 106,000
308 XHXI € %I S 0l & 302,400 262,950 39,450
ol 252,000
= 50,400
01 RXSHB AR ES 302,400 262,950 39,450
OMA S= AAE MHIA XA (22,2
=) 302,400
ol 252,000
= 50,400
Ta 2= AASHUIA NA(RS NAY)(2D) 29,000 0 29,000
I 29,000
307 QI2H0| & 23,000 0 23,000
p] 23,000
02 QI A MAR B E 23,000 0 23,000
ORE X Al 23,000
p] 23,000
308 XX €4l S 0l & 6,000 0 6,000
ol 6,000
01 RXISHBARES 6,000 0 6,000
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FA:

EE
& A= BAozMUA MB(BAH/BEHAZ)
el AEOIE R Bl & (ctel:m el
SN BB S (SA) - MM - BES Ofl &b b Bl REZ
OR= K& AH| 6,000
J| 6,000
Tatoer & MAZESAY 422,400 422,400 0
307 glz2tol & 120,000 120,000 0
02 QIHH &AL E X 120,000 120,000 0
OZATAUBHE AIY X 120,000
308 AUXIEHSOIA 302,400 302,400 0
O1 IXESHBHEXS 302,400 302,400 0
oxtauLdy 29 XA 95,200
OXr&M AFZH & dgeld & 207,200
MHETIZO0l Atell2el s X2 168,320 168,320 0
308 AUXIEHSOIA 168,320 168,320 0
01 HXESHILAEEXS 168,320 168, 320 0
OMIXIZO0l M2 &85 X 168,320
ArgzIEig2elMg AMMEZ(Z2R)(HEY) 69,412 69,412 0
J| 34,706
= 34,706
307 212+l A 69,412 69,412 0
J| 34,706
= 34,706
05 Bl & = 69,412 69,412 0
Odlgaza 2y NJA 24 69,412
J| 34,706
= 34,706
ALgEzAsE2AIY XNHEE(ZD) 590,480 612,919 A 22,439
J| 492,067
= 98,413
308 XX S SO0l & 590,480 612,919 A 22,439
J| 492,067
< 98,413
01 AXEHBAEEES 590,480 612,919 AN 22,439
ONEgY ¥ SS2CIAMY 590,480
J| 492,067
= 98,413
B4 HHEE MEI 24(=21) 23,520 22,050 1,470
J| 23,520
308 AUXIEHSOIA 23,520 22,050 1,470
J| 23,520
01 HXESHILAEXS 23,520 22,050 1,470
Oftg& g a2l & ALXA 20t W= 23,520
J| 23,520
29 OENAA NEIFBHEH 2F(=21) 390,000 390,000 0
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B
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390,000
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X

10,568,970

10,065,686
503,284

10,926,300

A 357,330
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A 357,330

mn <
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10,065,686
503,284

10,926,300

A 357,330

hn X
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30,637

6,014

hn X
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32,579
4,072

30,637

6,014

X

36,651

36,651

32,579
4,072

30,637

6,014

hn X

6,027

4,219
1,808

6,027

307 glztol A

X

6,027

4,219
1,808

6,027

n X

6,027

6,027
4,219
1,808

6,027

mn <

623,163

436,214
186,949

619,443

3,720

307 21201 A

n X

623,163

436,214
186,949

619,443

3,720
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ol AFOIWE IERMA HE (crel @
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SN EAEA) - MEAY - BES 0l &k o e SmEET
05 Bt &= 623,163 619,443 3,720
OZYUXMAEH 2 623,163
J| 436,214
= 186,949
XOIXI 222yl X3 (&EAY) 1,156,800 0 1,156,800
308 AUXIEHSOIA 1,156,800 0 1,156,800
01 HXESHBILAEXS 1,156,800 0 1,156,800
OXINxIZ2eldl X3 (&) 1,156,800
Xl ASHEAY 4,750 5,985 A 1,235
308 UXIEHSOIA 4,750 5,985 AN 1,235
O1 X ESHBHEXS 4,750 5,985 AN1,235
OXIH=Q A3 HHaZ Xl 22X 4,750
S|IHESN 2 ZH XNE(=1) 1,267,585 1,267,585 0
J| 1,056,321
& 211,264
308 XXM SO0l & 1,267,585 1,267,585 0
J| 1,056,321
& 211,264
01 HXSHILEXS 1,267,585 1,267,585 0
OsH&EEX 2=28 XA 1,267,585
J| 1,056,321
= 211,264
gE2AdALAIL (=) 3,237,749 2,918,832 318,917
= 2,698,124
= 539,625
308 AUXIEHSOIA 3,237,749 2,918,832 318,917
= 2,698,124
= 539,625
01 HXESHBILAEEXS 3,237,749 2,918,832 318,917
oYz HZ&cAY 3,237,749
= 2,698,124
< 539,625
FEHEOY 2F 11,000 11,000 0
201 2| 11,000 11,000 0
01 At 22l ] 3,000 3,000 0
oORxo¥ 24 3,000
02 324l 8,000 8,000 0
OR£gd AZF7Y 8,000
KNAEHAYE RAlell 22 S22s WAL (2D 17,640 17,640 0
)
J| 17,640
308 A HSOIA 17,640 17,640 0
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SH: A ME Y
S +

HE: M MBS HE(BA/AZGNNH)
©ol AE . ZE Bl (&9 &8
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2

= 350
< 350

308 XHXI & X SOl & 4,300 4,300 0
= 2,150
= 2,150

P E RS 4,300 4,300 0
OSIMES £HAMN X2 4,300
= 2,150
= 2,150

OlRIOIZAXRME &X 2F(=2) 3,047,800 2,940,000 107,800
= 2,177,000
= 870,800

308 XHXI & X SOl & 3,047,800 2,940,000 107,800
= 2,177,000
< 870,800

P EREES 3,047,800 2,940,000 107,800
OOEOIBAZNNAME LAY 3,047,800
=2 2,177,000
= 870,800

MEZXSABANALE 22 - 29 (21) 70,000 70,000 0
= 50,000
= 20,000

308 XX € X SOl & 70,000 70,000 0
= 50,000
= 20,000

01 HXEHBAEES 70,000 70,000 0
OMIZNSARANVHE &% 2 70,000
= 50,000
< 20,000

OIRIOIISAIE MgZel 2%(21) 60.500 60,500 0
= 60,500

308 XHXI £ X SOI & 60,500 60,500 0
= 60,500

P ER RS 60,500 60,500 0
oxgmeld 29 60,500
= 60,500

XXA DI ZSI M2l NS (2D)(HT) 47,850 47,850 0
= 23,925
= 23,925

201 Y2 Y| 2,694 2,694 0
= 1,347
= 1,347

02 BB 2,694 2,694 0
OADIE MBI SBY SHRI 2,694
= 1,347
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SH: A ME Y
S +

M HT AMBE HE(2A/ABOIGOH)
ool AE B35 a2 (ol @2
SA B S (BH) - MEMY - BES Ol & 24 e BlRE2

= 7,347

202 Of | 36,156 36, 156 0
= 18,078
= 18,078

01 201 bl 36, 156 36, 156 0
ogts(sg)es 29 36,156
=2 18,078
= 18,078

206 T2 bl 9,000 9,000 0
= 4,500
= 4,500

01 THEHI 9,000 9,000 0
SAAMN HHPY 9,000
= 4,500
= 4,500

NAH I EAMzel N (2D) 29,254 29,254 0
=2 29,254

308 X+XI EHHI S 01 & 29,254 29,254 0
=2 29,254

01 XS HBARES 29,254 29,254 0
OADIE ABOIEBR SBY 29 17,054
= 17,054
OALIOI 2N 2S 12,200
= 12,200

SEXNYBIIIR OIZAS +8 Hyl V(D) 13,168 14,501 ~1,333
=) 13,168

201 LEr2 Y| 11,082 11,082 0
= 11,082

01 At 22t 11,032 11,082 0
ORWSE aFB2 F 11,032
= 11,032

202 04| 440 720 £280
= 440

01 2L o1 bl 440 720 280
OAMZBO%E AMANH = 440
=) 440

206 M2 1,696 2,749 A 1,083
= 1,696

01 HHEHI 1,696 2,749 A 1,083
OAMZO%E 2[4 1,696
= 1,696

BECE S AR 22 B (S, AAE)(2D) 17,680 17,680 0
=2 8,840
= 8,840
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HE: M MBS HE(BA/AZGNNH)
©ol AE . ZE Bl (&9 &8
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
202 01| 1,180 1,180 0
= 590
= 590
01 20t Hl 1,180 1,180 0
OAYINSAE £ 1,180
= 590
= 590
206 T 2 bl 16,500 16,500 0
= 8,250
< 8,250
01 24| 16,500 16,500 0
OALISAHE AH 41t 16,500
= 8,250
= 8,250
StaAY XF 2% (21) 63,960 0 63,960
= 49,200
= 14,760
308 XX € X SOl & 63,960 0 63,960
=2 49,200
= 14,760
NP EREES 63,960 0 63,960
oorAAY I 29Y 63,960
= 49,200
= 14,760
HHSYAL (SAMZ D) (JIEH/IIEH) 107,312 117,104 £9,792
p] 15,268
= 92,044
ol gyl 71,309 77,558 ~6,249
p] 15,268
< 56,041
XA SEALSIAY (2 D) 30,536 38,842 ~8,306
I 15,268
= 15,268
101 Q121 b 30,536 38,842 ~8,306
ol 15,268
= 15,268
03 BRH(RIAHY)2ER2 S 30,536 38,842 ~8,306
0Jz2(152) 1,794,97021 %122 21,540
p] 10,770
= 10,770
OANZQI2R4E  0,730% «150%+12A1 2+ 122 2,102
ol 1,051
= 1,051
ORI EN+Y 9,730% +8Al 2+ 10 779
p] 390
< 389
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SN PAMT MY
I AYSIHH (BAAYI D) (DIEH/IIEH
chel: ol (69l @
% 5 15|
SH-BE-EH(BH) - HRMY - BYS i HlmE2
O=4ltl 140,000 128 1,680
| 840
< 840
Ounstl 100,000 »12& 1,200
| 600
3 600
OFE SO 1,794,970& x50%*23] 1,795
| 897
= 898
OB+ (RYIE)
(40,0002 +20,0002 60,0002 ) * 122 1,440
| 720
= 720
AZAM RIIH A A 40,773 38,716 2,057
101 @124l 40,773 38,716 2,057
03 SR (RIAL)22HE = 40,773 38,716 2,057
oJe=s(11ss) 2,287,590 12 27,452
OFSFmgat=, 2,287 ,590& *40%*23] 1,831
OAzZtZ2=Y 12,810& *150%+20Al 2t 12& 4,612
O¢ReSsII=E 102,490& 12 1,230
OFE SO 2,287 ,590& x50%*23] 2,288
O= Al 140,000 128 1,680
O sl 100,000& »12& 1,200
oNns=¢ 20,0003 x2H x12& 480
&l 36,003 39,546 A 3,543
Neg Jl=dyl 36,003 39,546 A 3,543
201 2| 24,621 27,822 A 3,201
01 At 22|l 24,621 27,822 A 3,201
ORA2YE ARl 24,621
202 O4Hl 7,182 7,524 A 342
01 2 A BI 7,182 7,524 A 342
ORM2E =W 7,182
203 R =&Y| 4,200 4,200 0
04 FN2ILRF=TH 4,200 4,200 0
©25¢2! ol at 350,000& »12& 4,200
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